MaTpMWUYHBM NMOOXOMO K
ONMMUCAaHUI NOKAaANbHBX U
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Monenbo

e OnMcaHMWe HenoKanhbHBLbX
B3aMMOOEUNWNCTBUU B PELWETEKE
nocpeanpcTBOMBBEJEeHMUSA T.H.
«MmaTpuy Jlannacapy

e Mopenb nogopasymMeBaeT,yYyTo
HeNOKanbHOCTbBL 3aKOHa
B3auMMOOoeUWCTBUA-NPAMOE
cnencTBUE
HeadOMaAaroHaNlbHOCTM
MaTPUUYHB X DYHKLULMUMK.
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OneparTopsl
ONACcCKanapHOIMoO U

BEKTOpPHOIro nonewu B
peweTKe cdcocensamMmwu

L1=2_D1—DI L2=2—D2—Dg

L=L,+Ly=4— (D, + D!+ Dy + D})

(fz(Dl +Df —2) + fu(Dy + Df —2) 0 )

0 fi(D1 + Dy —2) + fi(Dy + D3 —2)
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L = (4—(D1+D’{+D2+D;)) . >0

1)f(A) >0 forevery 0 < A < 4
2)f(A) > 0 should be finite

3)f(A=10) =




JlmcnepcunmoHHGEBIE
COOTHOLWEeHMUSA

CkanapHoe none:

FIMKL, K3)) = w?(Kq1, Ky) =4 — 2cos(K,) — 2cos(K>)

BekToOpHOEe none:

w?(K1, Ka) = fi(2 — 2cos(K1)) + fo(2 — 2cos(K>))

wz(Kl, K2) = ft(2 — ZCOS(Kl)) -+ fl(2 — 2608(K2))
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